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%plot(T,seia)

% (semimajor axis)
loga = log(semia);
logT =log(T);

axis([15 24 -1.5 4));
text(16.3,-1,'Mercury’);
text(16,-0.1,'Venus');
text( 17.5,-0.1,'Earth");
text(17,0.5,'Mars');
text( 20,1.5, Jupiter’);
text( 19.5,2.3, 'Saturn’);
text(22,3,'Uranus’)
text(21,3.45,'Neptune’);
text(23,3.7,'Pluto’);
xlabel('logT")
ylabel('loga’)

end
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“Ifunction fitplanet

plot(logT,loga,'--rs','LineWidth',2,'MarkerEdgeColor','k'...
'MarkerFaceColor','g’, 'MarkerSize',10);
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semia = [0.387 0.723 1.000 1.523 5.202 9.554 19

T = [7.6*1076, 1.94*1077, 3.16*1077, 5.94*10"7

%plot(T,semia)

% T unit : second ; the third one is the earth. An

% the sum of the longest and shortest distance

% (semimajor axis)

loga = log(semia);

logT =log(T);

plot(logT, loga,'--rs','LineWidth',2,'MarkerEdgeC
'MarkerFaceColor','g’, 'MarkerSiz

axis([15 24 -1.5 4]);

text(16.3,-1,'Mercury');

text(16,-0.1,'Venus');

text( 17.5,-0.1,'Earth’);

text(17,0.5,'Mars");

text(20,1.5,'Jupiter’);

text( 19.5,2.3, 'Saturn’);

text(22,3,'Uranus’)

% T unit : second ; the third one is the earth. An astronomical unit (AU) of length is defined as one-half
% the sum of the longest and shortest distance of earth from the sum
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text(23,3.7,'Pluto’);
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In 2006 the International Astronomical Union (IAU) demoted the much-loved Pluto from its

position as the ninth planet from the Sun to one of five “dwarf planets.”
Why s FW” h  |mger 4 Ipbw*b ?

Fiercely debated by the members of the union, the resolution that was passed officially defined
the term planet. What was once a loose word used to describe a large object within the solar
system was now specific: planets are celestial objects large enough to be made rounded by
their gravitational orbit around the Sun and to have shooed away neighboring planetary objects
and debris. Pluto is now classified as a dwarf planet because, while it is large enough to have
become spherical, it is not big enough to exert its orbital dominance and clear the

neighborhood surrounding its orbit.
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All the masses and distances are known. You say, “We knew it already for
the earth.” Yes, but we did not know the mass of the earth. By knowing G
from this experiment and by knowing how strongly the earth attracts, we can
indirectly learn how great is the mass of the earth! This experiment has been
called “weighing the earth” by some people, and it can be used to determine the
coefficient G of the gravity law. This is the only way in which the mass of the

)

Fig. 7-13. A simplified diagram of the apparatus used by Cavendish to

verify the law of universal gravitation for small objects and to measure
the gravitational constant G.
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